

Assignment Answer Q
 6/12/2021
 Computer Eng.

Chain Rule Function of e function.

$$y = e^u$$

$$u = x + x^2 \quad \frac{dy}{dx} = e^u$$

$$\frac{dy}{dx} = 1 + 2x$$

$$\frac{dy}{dx} \cdot \frac{du}{dx} = (2x+1)e^x$$

$$\frac{dy}{dx} = (2x+1)e^{(x+x^2)}$$

$$y' = (2x+1)e^{(x+x^2)}$$

$$y'' = \left(\frac{dy}{dx}\right)' = [(2x+1)'] [e^{(x+x^2)}] + 2 [e^{(x+x^2)}]$$

$$y'' = (2x+1)' [e^{(x+x^2)}] + 2 [e^{(x+x^2)}]$$

where $e^{(x+x^2)} = y$

$$\text{and } (2x+1)' = 2$$

$$y'' = y'(2x+1) + 2(y)$$

b) $y'' = y'(2x+1) + 2y$

$$y'' - y'(2x+1) - 2y = 0$$

Using Leibnitz theorem

$$W_1^n = y'' \quad u_1 = 1 \quad v_1 = y''$$

$$u_1 = 0 \quad v_1 = y''$$

$$W_2^n = u_1^n v_1 + n u_1^{n-1} v_1' + \frac{n(n-1)}{2!} u_1^{n-2} v_1''$$

$$W_3^n = y''^{n+2} (n) + n y''^{n+1} (n-1)$$

$$W_4^n = y''^{n+2}$$

$$W_2^n = 2xy^1$$

$$V^{(2)} = 2x^2$$

$$V^1 = -2$$

$$V^{(1)} = 0$$

$$W_2^n = y^{n+1} + \pi y^{n+1} V^1 + \frac{\pi(\pi-1)}{2!} y^{n+1} V^{(1)} + \dots$$

$$W_2^n = -2xy^{n+1} - 2xy^n$$

$$W_3^n = -y^1$$

$$U^0 = y^1 \quad V = 1$$

$$U^1 = y^1 \quad V = 0$$

$$U^n = y^{n+1}$$

$$W_3^n = y^{n+1}(-1) + 0 = -y^{n+1}$$

$$W_4^n = -2y^n$$

$$U = y \quad V = 2$$

$$U^1 = y^1 \quad V = 0$$

$$U^n = y^n$$

$$W_4^n = -2y^n$$

$$W_1^n + W_2^n + W_3^n + W_4^n = y^{n+2} - 2xy^{n+1} - 2xy^n - 2y^n = 0$$

$$y^{n+2} - 2xy^{n+1} - 2xy^n - 2y^n = 0$$

$$y^{n+2} = 2xy^{n+1} + 2xy^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n$$

2 e^{2x}

$$W_2^n = 2x^3$$

$$U = y^1$$

$$U^1 = y^1$$

$$U^n = y^{n+1}$$

$$W_2^n = y^{n+1} + \pi y^{n+1} V^1 + \frac{\pi(\pi-1)}{2!} y^{n+1} V^{(1)} + \dots$$

$$W_2^n = -2xy^{n+1} - 2xy^n$$

$$W_3^n = -y^1$$

$$U^0 = y^1 \quad V = 1$$

$$U^1 = y^1 \quad V = 0$$

$$U^n = y^n$$

$$W_3^n = y^{n+1}(-1) + 0 = -y^{n+1}$$

$$W_4^n = -2y^n$$

$$U = y \quad V = 2$$

$$U^1 = y^1 \quad V = 0$$

$$U^n = y^n$$

$$W_4^n = -2y^n$$

$$W_1^n + W_2^n + W_3^n + W_4^n = y^{n+2} - 2xy^{n+1} - 2xy^n - 2y^n = 0$$

$$y^{n+2} - 2xy^{n+1} - 2xy^n - 2y^n = 0$$

$$y^{n+2} = 2xy^{n+1} + 2xy^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n$$

$$= \sqrt[n]{n} \sqrt[n]{n} + n \sqrt[n]{n-1} + \frac{n(n-1)}{2!} \sqrt[n]{n-2} + \frac{n(n-1)(n-2)}{3!}$$

$$\int_0^1 e^{4x} x^3 + \frac{n!}{1} e^{4x} x^2 + \frac{n(n-1)}{2!} e^{4x} x + \frac{n(n-1)(n-2)}{3!} e^{4x}$$

$$= \int_0^1 e^{4x} x^5 + n(n-1) e^{4x} 3x^2 + n(n-1) 4x + n(n-1)(n-2) e^{4x}$$

$$= \int_0^1 e^{4x} [13x^5 + 12x^2 + 4x + n(n-1)(n-2)] dx$$

$$= \int_0^1 e^{4x} [13x^5 + 12x^2 + 4x + n(n-1)(n-2)] dx$$

$$= \int_0^1 e^{4x} [13x^5 + 12x^2 + 4x + n(n-1)(n-2)] dx$$

$$M_1 = x^2 y^n$$

$$V = x^2 \quad V' = 2x$$

$$U = y^n \quad U' = ny^{n-1}$$

$$U'' = n(n-1)y^{n-2}$$

$$M_2 = e^{4x} U V$$

$$I = 0$$

$$= (U'' V + n U V^{(n+1)}) V' + \frac{n(n-1)}{2} U V^{(n-2)} V'^2$$

$$= (n(n-1)e^{4x} x^2 + 2x n y^{n+1}) 2x + \frac{n(n-1)}{2} e^{4x} y^{n-2} (2x)^2$$

$$= 2x^2 y^{n+1} + 2x n y^{n+1} + n(n-1) y^n$$

$$W = 2xy'$$

$$V = 2x \quad U' = 1$$

$$U = y^n \quad U' = ny^{n-1}$$

$$U^{(n)} = y^{(n+1)}$$

$$W_2 = U^n v + n U^{(n-1)} v$$

$$= y^{(n+1)} x + n y^{(n)}$$

$$W_2^{(n)} = x y^{(n+1)} + n y^{(n)}$$

$$W_3 = y$$

$$U = y \quad v = 1$$

$$U^n = y^n$$

$$W_3 = U^n v = y^n \quad (v = y^n)$$

$$W_1^{(n)} + W_2^{(n)} + W_3^{(n)} = G$$

$$x^2 y^{(n+2)} + 2n x y^{(n+1)} + C(n) C(n-1) y^n + x y^{(n-1)} + y^{(n)} = G$$

$$x^2 y^{(n+2)} + x(1+2n) y^{(n+1)} + (n^2 - n + n + 1) y^n = G$$

$$x^2 y^{(n+2)} + x(2n+1) y^{(n+1)} + (n^2+1) y^n = G$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^n = G$$